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Slack — Bring your team together with Slack, the collaboration hub for work.

int main()

{
("Hello World"

HTML,JS,CSS
Ruby

Fortran

Haskell
Assembly(GCC)
Objective C
SQLite
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j— 54 program el
AR i s 0 | .
%31&25:&: ' writeln ('Hello World')

hTED

Copyright

Target 0S:

Compiling main.pas

Linking a.out

/usr/bin/ld.bfd: warning: link.res contains output
12 lines compiled, 0.1
Hello World

sSec

...Program finished with exit code 0

Press ENTER to exit console.
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program sum;
var start_x, step_x, X, y:real;
var i.integer;
begin F—/RK— R s5m
write('Please Enter start_x:"); S — A DA
readIn(start_x); / 175 TL\AE)
write('Please Enter step_Xx:");
readin(step_x); e o s
fori:=1to 20 do E‘l‘%@:ﬁk‘bﬂbj@_ﬁ
begin L '/f__l_'j _C(/\gglzﬁ
X :=start_ x+ (i*step x);
y := sin(x); BEADT—SD
writeln(‘'sin(’, x:8:3, ') =, y:8:3); |“ ExXHLAEITOTL)
end; v d [ 94
s =Y

end. 8
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sum
start_x, step x, X
iinteger

write('Pleas
readln(start x)
write('Please Enter step x
rcadln(stop_x)

{:=1 {

X start_x + (i
y sin(x)
writeln( 'sin('

readln
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start_x, step_x
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X = start x + step_x,

start x + 2 Xstep_X,

start x + 20 X step X
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main.pas

sum
- start_x, step x, x, y:real
* i:1nteger

Vi d W KN

write('Please Enter start x:')
readln(start_x)
write('Please Enter step x:')
rezadln(step_x)
, = to 20

6
7
9
C

X start x + ( 1

y := sin(x)
writeln('sin("’

all|

cormindria nre diguliierits. ‘

Standard Input: @ Interactive Console O Text 12



main.pas

start_x, step_x, x, y:real
i:integer

write('Please Enter start_x:')
readln(start_x)
write('Please Enter step x:'
readln(step_x);

i ,

X start_x

y sin(x)
writeln( 'sin(

readln

Copyright (c) 1993-2017 by Fl Klaempfl and others
Target 0S: Linux

Compiling main.pas

Linking a.out

/usr/bin/ld.bfd: warning: link.res contains

16 lines compiled,

Please Enter start
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. sum
start_x, step_x, x, y:real;
i:integer

write('Please Enter start_x:')
readln(start_x);
write('Please E
readln(step_x)

i :

X start
y sin(x
writeln( '

readln

v 7

Copyright (c) 1993-2017 by Floyian Klaempfl and others
Linux for
main.pas
Linking a.out
/usr/bin/ld.bfd: warning:y/link.res contains output sections; did
16 lines compiled, OfT ScC

Plea
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sum

£ LED

start_x, step_x, x, y:real

i:integer

write( Plec:

readln(start

write( Plea

readln(step_x)
=1

x start
y sin(x
writeln('s

readln

Enter start _x:')
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start_x, step x, X, y:real;
i:integer;

write('Please Entep start x:');
readln(start_x)

write('Please Entef step x:');
adln(step x)

Compilation failed due to following error(s).

Copyright (c) 1993-2017 by Florian Klaempfl and others
Target 0S: Linux for x86-64
Compiling main.pas

main.pas(12,14) Error: Identifier not found "son
main.pas(17) Fatal: There were 1 errors compiling module, stopping
Fatal: Compilation aborted

Error: /usr/bin/ppcx64 returned an error exitcode
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BISE1 DTOISLERFLT, sin(0.4) DIEZEHE
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sin( 0.400) = 0.389
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sum
start_x, step_x, x, y:real
i:integer

write('Please Ent
readln(start x)
write('Please Ent
readln(step x)

i
X start_x (1
y son(x)
writeln('sis

readln

Compiiation failed due to following error(s)

Copyright (c¢) 1993-2617 by Florian Klaempfl and others
Target 0S: Linux for xB86-64
Compiling main.pas

main.pas(12,14) Error: Identifier not found "son"
main.pas(17) Fatal: There were 1 errors compiling module, stopping

Fatal: Compilation aborted
Error: /usr/bin/ppcx64 returned an error exitcode 18
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y .= c0S(X);
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